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SUMMARY OF QUANTITIES

:ra'arru zt42z rudrlrinur mrriud'un:rs rirruywfiudun:rs Yr*rrr.o n^ortu qrJn:niqonYuu:.1fl:uuvlfl uas:tariu6'umTurJ:vunu6u 1

vr1{va?{Til1ulat 401 srou ttr#a{rr - f,tla
:vvdt nil.211+115 6t nu.ztz+z:o

:sssrirufiunr: 1.615 nu.

rjBurnrtru 5,200.00 eti.u.
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1 iruvrrfi Barrier Concrete 6'ruf; riruaraGn SQ.NA 5,200.00 45.03 234,142.48 1.3997 63.02 327,704.00 63.00 327,600.00
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1. {'luil1e BARRIER coNcRErE dxuedlilaldan

1.1 rruurfi

f,:ordurufiirrir (turntis = 3.785 fin:)
,iFrlu'lu'l 1.00 6m: ( 317.76 /18.925 )

o'sr:rairunr:mr 35.00 fl:.}J./$naou/n * 05/3.785)

:rnrriomr:rlmm: ( 83.95 /9.25)
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